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SECTION - A
Analytical Ability
| DEBE IS0y 58
Questions: 75 Marks ;70
¥ : 75 - | » ¢ 25
(i) Data Sufficiency y 4
508 SO

Note: In questions numbered 1 to 20, a question is followed by data in the form of two statements
labelled as I and II. You must decide whether the data gwen in the statements are

sufficient to answer the question. Using the data make an aPPropnate choice from (1) to
(4) as per the following guidelines: ¢ \ W _

(a) Mark choice (1) if the statement I alone 1s suﬂmnt to answer the questmn |
(b) Mark choice (2) if the statement II alone 1 18 suﬁclent to answer the questlon, |

(c) Mark choice (3) if both the statements I and II are sufficient to answer the question
but neither statement alone is not suﬁtient'

(d) Mark choice (4) if both the statements I and II together are not sufficient to answer
the questlon and addltlonal data is required.
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Is the product of the integers x, ¥ and z equal to 1?
QTOS* X, ¥, 2 © 0RO 1 § B3T835°7

. x+y+2=3 II. x>0,y>0,2>0

What is the radius of the circle circumscribing the trlangle ABC ?
Sabe:o ABC & 505y8%0 Do 58, TG0 Jo&?

I. ABC is a right-angled triangle II. The largest side of the triangle 1s 12 cms.

ABC 2.% ooaag*‘aéab DeHeso Sa0ezd) @8 Y gy My 12 wo. .
Is AABC equilateral?
AABC 3550255 (320235579
I. AB=BC ' | II. |ABC =60°

For the positive integer x is the greatest common divisor of 150 and % a pnme number?
@S JrFoso x §, 150, x © KOQ I8 aTesso 2.8 ™ & Sogs wHoT? 4

I. x1s a prime number II. x<4
X 2.8 (D% 50335

If x and y are 1integers then is z an even integer?
X, Y & JTTOSPB 2 IO JPT 08T

L oz=@+y) II. z=2xk 8y
What 1s the area of the rhombus ABCD'?
0 Bdotyezo ABCD DT WOH? |
~I. The length of the side AB is 12 cras
- 0o AB ¢ 12 0., 4

II. One diagonal is of length 30 cms
28 QEYD e 307 Sie¥ 313

Isa+b=d? |

a + b = d e@H&om?

I. The averaigeofa, bandcis6 - II. The average of cand d 1s 9
Q, b 835@2’636 ¢, d © Jo°0 9

Aredhe lmes L and L, parallel?
oo L, L, BTOBE ST

I. L, and L, make equal angle with y=0
y= 05913 L, o0 55575 §'e20 Do

II. L, and L, lie in a plane
L1= L, e 0 ‘oméeoés &THO

3 IP.T.0.




9. What is the digit in the units place of the integer n?
T To%o N Do), 258 TS éiy ©os B2

[. nleaves remainder 17 when divided by 100
n D 100D grhodm 59y 35e 17

II. nis divisible by 17
173 n I3k grhodeatosiood

1

10. What is the value of ?
x+48

l}
T DOV DOH?

. x+96=0 II. x+48%0

11. What are the coordinates of the point M?
Dot M dEr55°80?

[. Mis a point on the y -axis
Hotoy M, y-efo» aod

12, ,
c
14, What are the valﬁes of a and b?
a, b © JIS0B0H?
I. a:6=7:3,b>0 II. 2a:6=6:11, a>0



15.

16.

17.

18.

19.

20.

How many elements are intheset B={n e Z: f (n) < 5}?
A B={ne Z: f(n){5}éﬁabam?@?msgm‘?

L. ~f: Z—->Zisgivenbyf(n)=l2n-—1lfornEZ
[iZ>ZJ38neZSf(n)=|2n-1|r 3T
II. f: Z > Z1s onto
f:Z — Z JoQ0

Is the set E infinite?

D F e9:5089:30°7
I. E contains natural numbers II. E is the set of prime diyisors of 1234567
E 53523 Sogoiso SO &od E 36 1234567 G3o¥), B eseros e S0
Is b > a? WD’
b > a e9:)&0oT*?
I. x+3is a factor of 2® — 27° I[I. x—21s a.fa'-i_:tdlﬁ;-bf'xZ — 4q"
x® — 27b & x + 3 o8 587080 x> —4a‘b§ o— 2 2.8 S°8eTo%0

What 1s the value of sin? 0O + cosec? 99 A\
sin? 0 + cosec? 6 oS Jo®? |

[. sin©+ cosec 6 =2

I1. sec20=1+ tan®6

For integers a and bas (a3+b3 )Ji an integer?
a, b es ‘S".Q)"’cgos@é f_--(aa'__;g?w )3 rgosso?

[. &+ 63 is.an even integer
a + b"*a..f{ 0RO

_II_'..ﬁ" 3 + bd is equal to the volume of a box with dimensions 12cm, 18cm and 125cms.
NS b*@ﬁc‘fb $05TeTe0 12 20.90., 18 20.20., 125 20.20.00 8 &3 500 D057

'What is the cost price of the item?

&3 53029 5§75 Do JoB?

[. Itissold for T s at a loss of 10%
e3 D)0 10% S T s S e95®d

II. Ifit is sold for T (s + 50) the profit will be 5%
oy T (s + 50) 3 e 5% orafo 53908 [P.T.O.



(ii) Problem Solving (Marks : 55)
DB S

(a) Data Analysis (Marks : 10)
Seno¥ Jge

Note for Questions 21 to 25:

21.

22.

23.

Computers Soy°¢a5o . 95%
Televisions £38Je30 : 17% .
Miscellaneous 38850000 | % j% e

The following Pie-chart gives the percentages of various items manufacturedsby an
electronic company in a particular year. Based on this diagram, answer the questions
from 21 to 25. o 7

& JogaS 5o £.5 DR VoSS’ AL (&t3) B I eoTo 00 Be S5 b-35630
(Pie-chart) Bev)Bood. &+ Serd) exgrsore S8 21 00D 25 S65 Ko SHho ey d30d.

Major appliances ©erd &d8Ceaswer @ 40%

If the company manufactured 3400 televisions and the manufacturing cost of a DVD player
is 23400, then money invested (in Lakhs of Rupees) for DVD players by the company is
&3 Soww) 3400 3OS (&o° ) 0 BOIESR00, .8 EIE 30560 &8 ¢ &. 3400 ©oB, &
Sowe GG S0soe e beagwdcs%g >, (O50 Erroned’)

(1) 60 2) 62 4, ¥ (3) 64 (4) 68 _
If the company produced12000 computers in that year, how. many televisions it has
ngthat year. | .
538,805 12000 Sogtatiso BArESh, & Ho3tgod” ) SO BaXrtho8?
(1) 8160 _ 4, (@) 7260 (3) 6360 (4) 5460

If 50% éfthelmscellaneous amount is ¥ 180 lakhs, then the total investment in that year

(in crores of rupees) is x
Bved Bns s’ 50% 180 ofo ErJroned ®od, & $0SB\E0E" DS o weped (S5
"Fabod)

—

N 35 2) 40 3) 45 @) 48
24. If 10% of the major appliances cost is towards manufacturing the accessories and if the

total investment in that year is Rs. 32 crores, the cost of producing the accessories (in
crores of rupees) 18 |

ST E5EGER0e $68° 10% Dot SAZey BaXrdS PNV, w&w Deped 6. 32
§%20 0P, VRS DB BAXTOS PP b':.h)a(éeg & )

(1) 2.56 (2) 1.28 | (3) 0.64 (4) 0.32
6



[A]

95. The ratio of the number of computers produced to the number of DVDs produced in that

year 1S
&3 5058 50S° HOLTDD Ko R HoPsEy; GAG 05T Joegtd Ko g
(1) 25:17 (2) 8:5 (3) 5:2 (4) 5:4

Note for Questions 26 to 30:

In the diagram given below, the square represents women, the triangle represents
~ government service employees, the circle represents educated persons and the rec¢tangle

represents persons working in private sector. Each section of the diagram is numbered.

Read the diagram and answer the questions from 26 to 30. .S .

208 5306° BBBE0 Yo, Babeo Eevds 305" &SR, BB BEVET) Syed, A SBUCIo

PeS Soped’ BB 9N o

O30 BEOHTOW. B3 H0S' B e, a8 Doy SETFAIOWNGOD. &2
S5y 508009, 26 5009 30 S N HHVLH waen dSod. ‘P

ﬁ%‘ 13 - 3
g8 / 10 ) 12 w
W|"'.'_ % .l

M

26. The number of the region representing-éducatéd women in government service, 18
92085 985308° HELYHB OO BDoW BRI
(1) 2 2) 3and6 < % @ 4 (4) 6 and 9
3 5000008 N 6 080 9

27. The number of the region that"’represents uneducated women who are 1n government
service and in the private sector 1s |
8085 HO5LS H QAT :ao:ge:esﬁsso SOD 0 HERHED Q@m QPDoD (HOFO Doy
(1) 4 R 39 (4) 12
28. The region nun;_lb..érEd 10 represents
03 10D AT AOBBG (HOF0
(1) Educated women working in private sector
\(DE5 Soged’ SIDH BEOYBY) oo
,.(2)"Uneducated men in government service
7 5208 98508° BE0HER DB
(3) Educated men working in private sector
(65 D0ReS" HIDW BE0DHD) HEHL
(4) Educated men working in private sector and 1n government service
(deS $0P0, ER0H; M0G0 DIV WEPRY PR
= [P 1.0,

7



29.

30.

(b)

Note for Questions 31 to 35:

33.

Region 2 represents
0% 2 BA JrA8

(1) Educated women without job
&8'50BR) BEOPT) e

(2) Uneducated women without job
&850 89 B PED e

(3) Educated men working in government service | «
e0g D85R0E" BADD BELYHEP) PV l s

(4) Uneducated men working in government service

208 $30c06° DIDD BEOHE' Hhtovew

0
The region representing the educated persons without :Ei%i

&8 0B PR IS0 Mrdow @BFO
\ (4) 8and 9
Q30 8 000w 9

Coding and decoding Problems
§°Coh, &b §°'Goh D00 Q

(1) 7 (2) 2 (3) 7 an
]

(Marks : 10)

In a certain code the m'™ lett
i1s the remainder obtained
third letter C becomes
the reverse process 1s

nglish alphabet is coded as the n' letter wheve n
m + 5 1s divided by 26, 1 <n < 26. For example, the
) = 26" letter Z in the coded language. For decoding.
. Based on this information, answer the questions from 31

Tm+ 532608 Sy 300 n, 1< n < 26 @000, 300 &F0 5roS'Q md &Foe) et
&S n S L ETPTO0% 35 ettio C o, s 7’ (T X 3+ 5) = 26 S esgo Zm S€
3. & §° B 26550 HEAN TEE. B1 BIPTTY, SrSom B8, 31 Hood 38
SE Ko LY > D508

The™h PWrd for ‘FRAME' is
SO (2) TZKQM (3) UALRN (4) TZMSO

hich word is coded as ‘RNLKH?

§ 5 50 ‘RNLKH’  §€ 2a028082

(1) MEALS (2) TRIMS (3) MEATS (4) TRAIN
The code word for ‘BUST 1s .
‘BUST'S §°€ 3¢50 |

(1) SUGP (2) SVHO (3) SWIQ (4) TJHO



34.

39.

The word that is coded as ‘BLPY 1s

‘BLPY’ e §°€ Daonds H¢io |
(1) GAIL (2) GAIN (3) RAIN (4) GARE
‘The numbér of letters that are invariant in this code is
52 568" Dgytorm &ol wFoe Vo _
(1) 3 (2) 2 3) 1 4) 0

Note for Questions 36 to 40:

36.

37.

" Based upon the following coding system and the conditions (i), (u) (1), given below &nswer

the questions 36 to 40.
Ba BKSS S SR ByIHx0 Hodak0 T3 Eod 3 (1), (1), (1i1) ,wmm RS
5000 40 S65 Ko HEHOK eTren B : a A

3m§°§) 36

NumberlSymbol 7 |3 | & 6 | % |2 |# R A ¢

Conditions:

‘element is a number, then the codes for

(1) If the first element is a symbol and the la
both elements are to be interchanged ™
o5l Bareso a8 K8, DO Mareso 8 ‘Jx:@s @0.13%3 BocH Sureste S EoSy TR DoXrd.

(i1) If both the first and the last elements are symbols, then the last element’s code 1s to

be taken as the code for the first element.
Boocsed Sodako N0 mmm Potos eod, IS0 Sorefo Aoy, 56 Aueed Sareso G

908579

(in)If the group, of elements contain only one symbol, then that symbol is to be coded

as A. :;__._
R S '; Soriro of 0.8 Kot5oi5o SO &odl, &3 /50 A B 8o A i §6 Doxrd.

Whatis, the code word for ‘%82 & 477
‘%32 & 4'7 2 §°€ 250 DB

(1) LDJPXS (2) SIDXPL (3) SIDPXL (4) LJDPXS

What is the code word for ‘@4153+’ ?
‘@4153+ 3 §°€ H&0 232

(1) TXQNHT  (2) ZQXNHZ (3) TQXNHT . (4 ZXQNHZ
| - [P.T.O.
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38.

39.

40.

(©)

41.

42.

43.

44,

What is the code word for ‘45631#’?
‘45631# & §°€ 3¢50 DB?

(1) ANWHQX (2) XNWHQX (3) XNWHQA (4) XNHWQA

What is the code word for ‘3+5641’?
‘3+5641’ & §°€ 3¢50 HH?

(1) HANWXQ  (2) QANWXH  (3) HANXWQ (4) HANWXW
What is the code word for ‘2@7$4&’?

2@7$4&’ & §°€ 560 HB? ._ eV
(1) DASFXP  (2) DZSFXP (3) PZSAXD (4) DZSXFP &

Date, Time and Arrangement Problems (Marks : 10)
88, 5°00, 830050 HBoHEO m e ?

A person facing East moves 30 meters towards East and then moves a distance of 80
meters North and later moves 30 meters towards East again. How far is he from the
initial point?

BENE SPIVPOIT &) 2.8 B By B 30 Ebead: s'wg eéuo 29 80 206D S0 esp B8
D) G0 30 Qe SDE. &mm&m&mwmo

(1) 80m (2) 90m (3) 100m (4) 110m
80 90 o 8, 1002 - 110

After 1990, which year has the s_ame:calendar as that of 1990?
1990 B0, 1990 5°B0citod g@n.:s 0SB E00?

(1) 1994 @ 1995\, V" (3) 1996 () 1997

Five years back the ratm of a son’s age to that of his father is 2:5. The present age of the
father is 50 yearss” Thensthe present age of the son (in years) is |
250 [0IETR0OEBIEORTEES B BoG HAHXN AP 2:5. BoG BS SR 50 OSB8OS
SRR R :}0’.(3?&;3 (RDosehEs008")

(1) 18 N %2 21 i i | P

At 15 mmutes past 5, the angle between both the hands of a clock i 18

& rfom 15 D500 295000 2.8 KAATE0s™) Bockh 300000 305 560

3- :(1) Toy50 (2) 67%° (3) 64° (4) 58%°

45.

_J"

The denominator of a fractmn 1s one more than twice the numerator. If one is added to
both the numerator and denominator the fraction becomes

.5 @R’.hoéi R 5850, &3 Yo A, oD 6&30@)5@_ 2,503 DS".)&IS &3 Do AAE), 03, Fo°0H .53 0Hd
U0) @R’J&G

W 3 @ = ® 5 @ =
10



' 46. Bisto the South-West of A: C is to the East of B and is also South-East of A while D 1s to
the North of C in line with B and A. The direction of A relative to D 1s '
A £ D68 85, B; B £ 879 5001 A  estyod 888" C &0d. 57w D &30 € £ 80 éotxr '
- AB oF 50hasor éotd D &y s A doofy, o &8
(1) North (2) East 3 (3) South-West (4)- North-East
&860 B D8 | esRy000

a_

47. Five persons A, B, C, D and. E are in a row such that
e S5e0 A, B, C, D, E @0 2.5 565008 §08 dgon &,

(i) B is not at any extreme end, (i) Cis in between B and E,

D J5ES8 B 8¢ | B:E_wmﬁscm@ | .« !
(iii)A is on the left of B (iv) D is on the right of E )

B £ 5090 A &0 E % 063935 D & ¢
Then the persons at the extreme ends are "
@ €8 SERE” Tt VST 50 DQeo R
(1D.C, 1 (2) A, E - 3 CGE - 4VA, D

48. The town P is located on the bank of a river. Anothemtown A is to the West of P and a
town T is to the East of A but West of P. K is a'town which is to the East of B but to the
West of T and A. The town on farthest Westis",

05 S0 2% &) Sees0 P. P £ 365508 BX% A®S 54600 €00, P £ SEBES aotar A £ 83y

%% T e $63830 &od. K &5 ¢330 B £ &rays dociedanns T, A 0% 565085 608, 56200 ALORY
wbos Grood ey e . LI | |

T P V3) K @B

49. 15 August of a year falls'on Wednesday. Then what day is 2™ October of that year?
.8 H0SEG0E™ ety 15,28 tRB, & $058008" @ ath 23 3 T ¥PBoB?

(1) We'ci‘nesday_ "(2) TPuesday (3) Monday (4) Sunday
OETE0 4 S0oNFTEo | DT T0o 3880

50. Ifa#'d =a(l+g+b—2+---] fora, be N,b>1then2*3=

- .-.- .. . 1 l
a,beN,b>10Dax b= ﬂ(l"“g'*'b—z"'---)eﬂmé@do 2% 3=

1) 1 (2) 3 .6 (4) 8

11
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Note:
Note:
51.

52.

53.

54.
55.
56.
57.
58.

59.

Sequence and Series

- eSoESTre, @Eoe

In each of the questions numbered 51 to 65 a sequen
a definite pattern is given. Each question has a blank space. This has to be fille
correct answer from the four given options to complete the sequence without breaking

the pattern.

51 35 Doeath 500G 655 VoL SO Ko (9 5%01653’33“ FO DOPE0 o), ©S0°0 TR 2.8 (§302) 5000089
QONRT) FPeIAITHOX. (XS SHSET &Sy TV, FP T DIJSO 006 DO BONOD BT, SOV

500 DTS goro Kpos oo d.

PRT : OPQ :: GIK: _

(1) EGH 2) FGI
2 6.12, 20, 42,56, 72
(1) 30 2) 31

Reading : Knowledge ::

(3) FGH (4) FHH

3)32 Y436

S0 Daa;:éo =

(1) Swimming : Exercise
gL wlele :D‘SOII"ZDO

(3) Adventure : Touring
DoT°0 - 5(!55&39{5(230

10, 100, 110, 111, 1000,

1) 1001 (@ _1:10.1
AEF : BIJ :: _»OUVE

(1) NOP - (2MPQ

120 : 60 :: 24 Y

1) 3&N® . @ 4

121;ii2; ,917, 91, 86

(1) 99 (@ 101

4.8, 12,24,36,72,

(1) 108 (2) 106

10, 30, 150, . 11550, 150150
(1) 1050 - (2) 1500 '

(2) PleaSi;ré *Playing
BI060" &30 -

(3) Working : Experience

SDANHEO : edoerdo

@110 (@ 1n
(3) NOQ (4) NQR
3) 5 @6
@ 102 @ 104
(3) 98 (4) 96
(3) 1005 | (4) 5100

12

(Marks : 25) -

ce of numbers or letters that follow
d by the



[A]

60. TUW, VWY, XYA, ZAC, -
(1) CDK - (2) BDK (3) BCE - (4) CDF

61. KNIP: PINK :: : : : | |
(1) TCA: CAT (2) YOB:OBY  (3) DAER:READ (4) TIGRE : TIREG

62. 2,10,30,68, __ , 222

(1) 96 C(2) 112 (3) 130 (4) 196

63. April i 64 :: July:
DRd::64 e

(1) 512 2) 729 (3) 343 @) 216
64. 0,15,80, . 624 n "
19 - (2 110 (3) 205 (4,285,
65. YXDCPO, WVFENM, UTHGLK, K,
(1) SRIINM  (2) UTJLJI 3) SRIUT #L \(%) UTIINM

Note: In questions 66 to 75 pick the odd thing out. Ly
CBES 1 66 5006 TS HEK Ko (3#HRS" S0F0D KHQoW0HMD.

66. (1) 43 (2) 63 (3) 33 © (4) 93
67. (1) 16 @ 25 N3 36 (4) 48
68. (1) 13 @21 - N ) 48 (4) 232
69. (1 13 o 2051 Vv 3 2l -(4)1_1.
AT ) | N’ SURT: 19
70. (1) 24 (2). 121" (3) 720 (4) 5040
71. (1) Fish | "--",-.(2)'-Frog (3) Crocodile (4) Turtle
% o - | 0O eeien
2. 1) 2-0%0 (@ x-4=0 (3) ¥ -9=0 (4) ¥ —12=0
13. (I)"'Pé.réllelogram | (2) Rectangle
L D3ToBs weatyo . B HBOB(EO
(3 Rhombus (4) Square
15595 BBOCE0 | BotEo
74. (1) 0.01 (2) 0.001 ~ (3) 0.0001 (4) 0.000001
5. (1) = 2) @Y i
- (D3 F)13 :()19 - SV g

. [P.T.O.
13



(i)

| ‘Section B
Mathematical Ability
Ke38 J350¢s 5t
Questibns: 75
Arithmetical Ability
e0ENXe3H mg 5%
If a, b, ¢ are all non-zero such that 22 = gb = 6°, thenc(a+Db)=

- 176.

717,

- 18.

79.

80.

81

a, b, c o&° D a..§be3 0y 50T, &otar 22 = 3P = g¢ @od, ¢ (a + b) =
(1) a (2) b (3) ab 4) a-b

If x+ 2y =19 and 2x + y = 17, then the value of x3Y ~ X ig

x+ 2y = 19 308050 2x + y = 17 eowwd x3Y ~ X @y devd

(1) 7 (2) 75 @27 L N\WV@>s

If the angles of a triangle are in the ratio 3:4:5, thenrthe least angle is
0.8 (@200’ Seren 3: 41 5 A3S° ¢od) o EN S

(1) 36° (2) 45° “(8) 60° (4) 72°

If 16x% — 24xy + 9y% = 0, then x 4. =

16x2 — 24xy +9y2=0&9m6§,x:y=

(1) 3:4 (2) 4:3 " 3) 2:3 | (4) 3:2
If ; =a+b=5théﬁa:b:c=
a-—c cd B
b &5 N
=a+ =E@mé,a:b:c=
a—Cq Q0 b
(Hil:-1:1 (2)3:1:2 3)4:2:3 4) 3:2:4
._ a+l | —a
' o 2 =
If a ﬁ+ﬁ,then - —
-3+ 4 a+l " l-a
A= 42 # y3 600 a-—1 1+ a

1 2 (2) V3 3) 1++2 @1+

14

Marks: 75
(Marks: 35)



82.

83.

84.

89.

86.

87.

88.

If x= 3 + 4/5, then the value of xt + 12x3 + 36x2 is

X = 3+ 5 @008, 95 2t + 1223 + 362° GI008), DO

(1) 4 | (2) — 4 " () -16 (4) 16

H C F of two numbers is 15 and their sum is 150. If both the numbers are greater than

15, then those numbers are
GO JOPgO K. e, 15, 37e3 oo 150. 53 DO QOPLRT” 15 %0&3 ek 00D €3 QOP0, ¢ |

(1) 45, 105 2) 60, 90 (3) 55, 95 (4) 30, 120

If n = 847 x K is a perfect square then the least possible pomtwe value of K 18

847 % K 2.5 50378 55500008 eyc K o, 595 68,8 Jeod

s @ 5 @7 S

The number of distinct prime factors of 8! is :
8! oﬁmgb b@:ﬁa-@cﬂé SLETOT°O ‘5.':1-:33::5 |
(1) 3 (2) 4 @5\ P @8

If x> x2> x3, then a possible value of x among the followmg 1S

x> a2 > 3 @0, B ($odTAS” x &9;’33“% &’Jm;ﬁ

1
1) -2 @ - (3) 7 (4) 1
JlO ¥ st + /108 + \/154___1- -'~__.-225
W 16 oo N @ 0
If the &actlens = “and — are expressed with a common denomination, then the least

2 9 13
numeratorla

. . .
é’;)aaeu ) G RET — oo R (28) o éoéeaorv’ O°o) @0 SV 090

89.

(1) 3333 2) 33% (3) 33 (4) 3333

W 117 2) 91 (3 136 (4) 52

3 33
The maximum of 333 : 3’ , 333% and 3°°°
3 233 | |
333, 337, 3333 So00m 3777 08 Ao
| 3

[P.T.O.
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I1.

92.

93.

4.

95.

.

90.

The difference between compound interest and simple interest on a sum for 2 years at

the same 6% interest per annum is ¥ 36. Then that sum (in rupees) is

.8 DGO 2 aasﬁ%c“e‘is S0BTS¢ 6e.:o 6% & ertosd, HESGe B0 36 LHBB. & ngo
(Srdand)

(1) 10,000 (2) 20,000 (3) 15,000 (4) 18,000

The length and breadth of a rectangle are changed by +20% and -10% respectwely Then
the percentage change in the area of the rectangle 1s. & o

2.8 BF BBOGERD Y, sonyed SEWIT +20% Sodakw - 10% 076 BB @3’;33&3 3 5:5
SEOGED) PTOgINS” BTy By TR0, A

(1) 15 2 10 3) 8 @5 Y

If 2 of 15% of an amount 1s 72 then that amount (in rupees)ls |

2.5 B0BH0S” 15 T80 ooy, 7 Hodo T 72 wond egonCﬁJ eﬂmm (d}“@‘maés)

(1) 1400 (2) 540 ~ (3) 360¢ (4) 640

A started a business with a capital of ¥ 6400 Later B joined the business with a capital

- 0of T 8000. At the end of the year they qhared the profit in the ratio 6:5. After how many

months B has joined the busmess‘?

26,400 2GS A TgErco @‘d@a"dﬁa $0°s® T8,000 2ENDGSE & D‘g@‘doéﬁ B 307,
JoSBT 0B T oo :Joge:a 6 S Sand, I oo Sovg B ?53‘5065 DOEO?

w8 DX S ® 4 @ 3

A person buys an artlcle Wlth 15% discount on its marked price. He makes a profit of
15% by sellmg 1t at -4 3910 Then the marked price of the article (in rupees) 1s

2.8 3’35_% a.S meQ)zéo CFS @§e3e‘_’9 20 15% ééi:z!;ﬁsi) ?agc‘io oeoR <3,9100% @é’.b& 15% ererdy
?5m e:‘rog)r:i) €3 50 @§e3e:’9 e (Erdranes’)

@ 3L5m (2) 4,500 (3) 4,000 (4) 4,200

If the cost price of 20 books is equal to the selling price of 16 books, then the percentage
of profit is -

20 555000 59 0, 16 :HRE5000 @05 0K [BRFHE00BD @D TRIT D00 :
(1) 16 (2) 20 | (3) 25 - (4) 32

. 16



96.

97.

98.

99.

A, Band C started a business inﬁesting a sum of money in the ratio of 8:9:10! After three
1

months B contributed another =¥ of his capital towards business while C withdrew

3

1

= th of his capital after 6 months. If they get an annual profit of ¥ 2,37 ,300 then C's:

share of profit in rupees is. | Ko
A, B, C o0 "800l arEoS” wexeico I 8: 9 : 10. Sure doeo dogs B 6 mmsjmgaw

3 © S0BORL eSHOT VYT, et J0o $TS C 83 weneds’ % D5 SoB00 BRE TR, TS VoSS -

3
or0d ereo T 2,37,300 @008 @08’ C rer (S’ |
(1) 94, 200 (2) 83,700 . (3) 75,600 (4) 67 200

A, B and C started a business with some investmentss At the end of the year, in the
profit, the share of B is ¥ 5000 more than that of A and C’s share 1s ¥ 2000 more than B.
If the total profit is ¥ 1,11,000, then the share of C, in the profit in rupees is

A, B, C oo §0¢ ané.na‘.rczae:&s ?.'.5"53‘::50 rSodoTD. a’aoééoﬂ‘oé@“afoés B e A srersoéd 33,000
28%0; C e B TeTECE) ?2 000 @@m @@w 200 orgio X1,11,000 oD, eNod C eI
(8T o0S) .

(1) 39,000  (2) 37,000 - _(3) 3-8,000 (4) 40,000
A and B started business together: B's capital 1s ¥ 700 more than that of A. But B invested

his capital for 9 months and Avinvested for 10 months. If A and B share the proﬁt in the
ratio 8:9, then the capltal of B (in rupees) is.

A, B 0 580 orgrco @‘60&)9{}”&3 B Wepad A oaeaaaci‘pgoej X 700 e29%0. 370 B &:9: a&wm&i’) 0 o
&Gowne, A &85 .;.3&.1323&3) 10 Zmenoa"c:b 3“53"0"0&‘9 Moéﬁ 0 T o 8 1 9 Qﬂcmé B nae;nzaé
(Ci)"@"olbée)

1) 3,500 .4 L N2) 4200 (3) 4000 . (4) 2,100
Two pipizeé A and B can fill an empty tank in 6 hours and 8 hours respectively. After

opening both of them for t hours the pipe B is closed and the pipe A ﬁlled the rest of the
tank n 4 hours. Then t =

Both X Sodeo A, B e o8 grd SerO SR 6 Kotren, 8 Kotrwd® JoDKOD). €3 BOKD HOQHOET 2.33136
B0V t Moty Hoed B ;’nro.) 3%, 509 A e EeJD BT 4 Ko DoROB. B ¢ =

(1) ‘.; 2 (2) § (3) § (4) 'g

17
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100.

101.

102.

103.

104.

105.

Two pipes can fill an empty tank in 36 minutes and 45 minutes respectively. If both the

pipes are opened simultaneously, then how much tlme 1S needed in minutes to fill the -
tank? |

VoL JoHew .8 5"&3.‘:) SEHT 36 Soore, 45 3)33335{“6‘55 K)o@wm €3 Boéoﬁb DE 008" @6 €3 e‘5°e§

Docierdd Q) Dmai“en SDENBO0H?
(1) 10 (2) 15 (3) 20 - | (4) 25

Three persons can complete a work individually in 6 days, 8 days and 12 days respectlvely
If all the three persons work together the number of days required to complete the'same
work i1s

S0 HEe0 DAIGT 2.8 DA SR 6 Seren, 8 Eeren, 0B 12 e’ qe)"’g 3035:‘{053 00T
€3 :mrbﬁo 355300 SO &0 DA JQ DAX0EIH SO Sore Sos -

(1) 3 | (2) 3 (3) = (4)' 4"-—. D

A, B and C can do a work individuallyiin 20 days, 15 days) and 25 days respectwely To
complete the work fast, which of the two are to be aSSIgneﬂ the work?

A, B 50800 C o0 IEIEMT 2.8 5A S5 20 &aren, 15 5“am S5080X0 25 Sared’ DoHRe. B0
KA I8 DANES 2 3E08 €3 HA edHfowmd?

1)AB  (@BC ® WX (4) Balone -
| ' , U B &5&&

A cube has a volume of 128 cm? At s d1v1ded into 8 equal cubes. Then the ratio of an edge

of a smaller cube to an edge of the original cube 1s.

2.8 P00 P0ORTPE0 128 & 2 0. Db 8 DI Soreon® 3)2.‘52‘-20“:23&0& DVl u?éQ POV WO,
A00csed 0 @0 Ko DY

(1) 1:8 (2)1 16 3)1:2 . 4) 2:1

The volume ofia cube (111 cubic centimeters), whose total surface area is 384 square
centimeters;is & |

384 . 20 Eb én:&éen DT 50 KOS 2.8 505 PoRH0BIE ($0% PoedAoeags’)
(1) 64 | (2) 512 (3) 128 (4) 256

The-velume (in proper units) of the cone with r as the radius of the circular base and
having height h1s

8 h, SYTS6 TR0 1 DS Fo) o8R0 (BAD oXTIES’)

| 2 4
W yrrth @ Frrth @ nr?h (4) 37r’h

18 :



106. If n is the maximum number of solid cubes with an edge of length 0.2 cm that can be put
in a box whose dimensions are 1¢cm X 1 cm X 4 cm then n =

1 200.90. X 1 200.20. X 4 200.20. 5055830 595 2.5 " 0.2 200.20. SoBoTED) 5B 300507 KOQSop;
n ©00D, OSPE N =

(1) 250 (2) 150 (3) 500 (4) 350

107. The lengths of the sides of a right angled triangle are in the ratio 3:4. The area ofthe
triangle is 726 square units. Then the length of the hypotenuse (in proper umts) 15

2.8 0owE’s BLhe) 20z PG 3 : 4. 3 (HL0e PT O 726 . NI, VN T gcs:g; ( e

omaaé‘)
(1) 33 (2) 44 (3) 55 4) 66 o o
108. The ratio of the radii of two circular cyhnders A and Bis 2:3 and t'liat ﬂf thelr heights is

5:3. If the volume of the cylinder B is 27 m3, then the volume Qf the eylinder A in cubic
meters 1s. . QF 3

Bt TS IrJew, A, Bo Trgre 38 2 : 3, T Qé_p QM 5 3 Ardo B 30030550
27 Soa%. emoéwmAqn:éaam(q» 0.08")

109. The number of elements in the set
E = {n: n integer, 500 <n <700 and n_ 1S d.lmlble by 11} is

308 E = {n : n Yrgoso, 500 < n < 700 H 3 n JBySem ePROSLEB0R} SR resTe 90335
(1) 63 (2) 45 (3) 108 (4) 18

110. If 3%® = r (mod 5) and 0 < r.< < 4. then pe
358 = r (mod 5):»6&5»05:‘54@@6 IV I =
(3) 4 - (4) 3

(ii) Algebralc &nd Genmetrmal Ability (Marks: 30)

111. The gtatament (p — @) — p is equivalent to
(p -;r q) — P &9 EHIT3 BoogI0

Wp @)q 3)g—p @ p—q
112. The contrapositive of the statement p — q
P = q &0 ETAS HIH0HH0
(1) ~p)—>q 2) (~p)>(~q @B)g—-p 4) (~q) > (~p)

[P.T.O.
19



|

113 If the statement "3 is rational and .[3 is r,rratwnal" 1s denoted by p, then which of

the followmg statements represents ~ p?
: 1 .
5&@5& eESe3a% Sogg SodaXw /3 &3S S'defo:b Sops” & @;’J{.‘)v:h p eS‘ VDY, §o& TS

D8 ~ P BS R308?

(1) = 18 1at10nal or /3 is irrationél.

2. ¥ e9%¥5e30% Do o J3 oy 56:3013 Sogs.
(2) —1s irrationﬁl or +/3 is rational .

2.5 S6E30 Hdops ST /3 2.8 estsedo 5oa:5.
'(3) — 1s1rrational or J§ 1s 1Irrational

2.5 556300 & @03:5 Soe J§ &5 S'ﬁegcﬁa OS5
(4)

1s rational or J§ 1s rational

~:|*—‘I\L|HM|I—*MII—'M|!—‘[\3|HN}|HN p—

2% eo%¥5e30% 50&:5 So J_ 2.8 eagdcgoia &ams'

114. If the number of elements in the sets A;B are respectwely 5, 7, then the number of
relations that can be defined from Ato B is. -
A B Jmmt,ﬁsb J005°0 Koo SEHMST @owd, A 00 B & 265905 Ko Hoeomre RoPs

(1) 27 @22 WV 3 2% (4) 2°

1
115. If f: R 5> R isa functmn satlsfymg the condition 2 f (x) — 3f ( ] = x% for any x# 0, then f

'(3) 1 .
oo R éDcisao:;a:é:é 2.& @75.)&:(:0)" D x208 2f(x)-3f ( J = x2 &5 D20 Doty H0Y,
&3 uc-wf(3)— | | '
B3 28 3) -8 @ -

116. If asset A'has 8 elements, then the number of subsets of A having atmost 4 elements is
SHUEA & 8 Sarosresod, A dog), &8s’ Koo 4 wwmoa &SBRBLD DO

() 256 (2) 126 3) 93  (4) 163

117. If a straight line is passing through the points (3, 3) and (7, 6), then the length of the
pm tion of the line intercepted between the coordinate axes is -
120¥3% (3, 3), (7, 6) Dot Kot Aeooés, & ¥6¢ By ETSSFre S0G5s W ©oBY Potio )

(1) 4/5 (2) YT (3) 5/4 Q) 7/4

20



A]

118. The equation of a straightline whose slope is 1 and X-intercept is 4, is
- Teo 1 SOA, X-mm4mmwaa:aa;§csm

1) x+y+4=0 (2) x+y-4= 0 (@ x-y-4=0 @) x-y+4=0
119. The foot of the perpendqular of the pomt (1, 2) on the line 3x + 4y =11s

(1, 2) Doiopioods 3x+4y-1w6a§>m:>eoaa~cso

7Y o7 ol

W 5 5) @7 @) 125’ 25

120. cos 208° sin 238° + sin 152° cos 122° =

1 i 1= V3

_ 1) 5 2 75 _ _(3)'?
121. If0<a,B< -145, cos (o + B) = % and sin (a - p)
O<a,B< 2 & cos (a + B) = =, 00a¥0 sin (a — B) = T %

= - « PN
1) 33 - (2) 5¢ 3) %

122. If x=acos®+bsin® and y=asin®  ': 0s 6, then X+ yt=

x=acosO+bcosO,y=asin0-b . | 5 x2+y2=

(11 (4) a*+ b*
tan 10° + tan 50°"
123. 1 "tan10° tan50°
M S N\® @ 7
fi & boat rowing away from the cliff 150 meters high, observed that it takes

inutes to change the angle of elevation of the top of the cliff from 60° to 45°, then the

spee d of the boat in km/hour is |
150 0625 KMo 2.5 8PS0 K00l BTN 2.8 SEDS Q) 353 3p0°(To ), éagggsm 60° oo 45°

$ S8 2 s OV TV éms‘a;ewm K03, € DES Do, Kot whmcses‘

9- 3J_ 2) 9+;\/—

‘M @ 9-v3 - (9 9+3

(P.T.O.
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125.

126.

127,

128.

129.

130.

131,

If the polynomial — a? x3 — 2ax? + b%x + 1is divisible by x+1, thena - 1=

—al 3 —2ax2+b2x+ 1&932.30.J'°Jaﬁﬁx+ lﬁarhenaa:&éa 1=

(1) £ b ' (2) +2b (3) £(b+1) (4) + (b — 1)

A polynomial in x leaves remainders —1 and 7 when 1t is divided by x + 1 and x— 3
respectively. If that polynomial is divided by x% — 2x — 3, then the remamder IS

x & 2% 250509 x + 1 50000 x — 3 o8 AR Hu) Fddwen SCd -1, 7. &Bmﬁc‘i‘:ﬁ) x2 —2x—-3
& rAa) W) 350 N

() =1 @) Tx—1 (3) 6 (422 1
If 73 x 74 x 75 % 76 is divided By 14, then the rema.indgif.:is.' >

73 % T4 X 75 X 76 9 14 D erhly 58 30 K, \ N

(1) 0 2) 5 @) 10 v @12
The 8th term of the progression 162, od; 13, 15

162, 54 18, ... BAS®D 8 5 B¢50 WX

L) = 2 2— & " 3. _2_ 4 =,
W 3 @5 €YYo @ 5.3
The sum of the first 10 terms of the series 1 3,5, 7, ... 1S

1. 3, 8. Fseceuns Eﬁtﬁésﬁmﬁﬁ 10 SRS Ao

(1) 75 (2) 50 (3) 100 . (4) 121

| 1
The coefﬁ_c%ent _uf x in the expansion of (3,1'2 e E;J e

(3-1 —E—) DIBES” x €0

45 ~45 45 — 45
__.-.-_(1) " @ — 3) (4) —
W 5 5

If(2+3x)5= Y a,x" then D, @n=
n=0 n=0

5 5
(2 + 3:(:)5 - Z a, x” . '&‘Jm&, z d, =
n=0 . n=0

(1) 32 - (2) 243 | (3) 1024 (4) 3125

22



| 0 -2 1 0
132. IfA={2 0} andB=(0 __J,thenAB+BA=

(0 -2 1 0
A=\, o | B=|, _ | wcs® AB+BA=

U =2 | b+ 0 0 O 1 0
o3 el el el

133. If A, B are square matrices of same order such that B=— A~! BA, then (A

A, B e 28 30357630 Ko Dot 5780, @ B = — A~1 BA exdiogtaos) ey (@

(1) O (2) A+ B
. Lim xz - J;
134. - \/; o =
(1 (2) 3
Lim 1°4+2°+...+n’
135. e
n—» 0 n
1
1) 0 @ 5

136. If 3x% + 2xy + y% = 6, then (_

3% -F'2xy + y2 = 6 @ond,

(1) -1 @34
137. The derivative of tan

+ 1) with respect to x at x = 2 is
s ta G2+ 1) Q0E); ¥I500

(3) — 2 (4) 2

3 .'3i 4i
()26 (_)13 ()26
138, .
AZB
D C

In the above figure if ZABC = ZBDC = 90°, BD = AD, then #BCD =
2 “&08° ZABC = ZBDC = 90°, BD = AD eoxd, £BCD =

(1) 30° (2) 45° (3) 60° (4) 75°
- [PT.0.
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139. If two circles of radii 5 cm and 12 cm touch each other externally, then the distance

140.

between their centres (in centimetres) is -

S VO. fila 12 2o Do D‘Sﬁ“ﬂ"mﬁ‘ N® 0ol E.Sq)@‘m ar@rson“ ) q)%oiﬁag"oej :.T°e.3 'éom ;’136;55 aSilele (:ooeS

- Qoeas’)
(1) 13 (2) 17 3) 7 (4) 12
The area (1n square units) of the polygon whose vertices taken in order are (0 0), (6 0),

(6, 6), (4, 4) and (0, 6) 1s __ |
(0, 0), (6, 0), (6, 6), (4, 4), (0, 6) DHotSoH 2 & TEORE 5D BTPO0B, e_-ezamae.‘:f)ééa"*mso S lator)

QNS o
(1) 24 (2) 26 (3) 30 @) “_36_
(iii) Statistical Ability ' (Marks: 10)
TopE IS
141. The mode of the frequency distribution given_.belbw'is '.
Sots 3 FEHDg VaTeSY) eTSTOVED '
x[1] 2] 3] 4] 54 €[ 7] 8
f |l 4| 9| 16| 25 22 l 15 7| 3
(1) 4.5 @4 . MY o5 (4) 5.5
142. The geometric mean‘'of the d‘bservations 2, 4,16, 32 is
2030500 2, 4, 16432 SpErs0¢gs00
M4 & B 3) 8 (4) 10
143. The médiﬁﬁ 6fthe observations 7, 8, 7,9, 7, 14, 15,6, 8, 14,9, 17, 15, 16 1s
a@%&%ﬁm'? 8,7,9,7,14,15,6,8,14,9,17, 15, 16 © S¢/i50
(1) 7 (2) 8 (3) 8.5 - (4) 95
144; 1f the mean and mode of.a data are 45 and 51 respectively then the median of the data is
2.8 (SBPOFO CI0E), 0SB0 Ho0AKY TVFESLLY HEIT 45, 51 ©0owd, WINE & $To¥o
WG |
(1) 46 (2) 47 (3) 48 (4) 49
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145.

The quartlle deviation of the observations 80, 48, 60, 92, 50, 35, 70 is

- J8305e0 80, 48, 60, 92, 50, 35, 70 © SBOTOFE D0

146.

147.

148.

149.

150.

(1) 10 (2) 12 (3) 14 (4) 16

If o 1s the standard deviation of the observations Xy, Xg, ..., X, then the standard
deviation of 5x; + 7, Sxg + 7, ..., 5x + T 1s

DOBOIL X}, Xg, ..., X, © ESOIBOB0 6 @D 5x, + 7, Sxg + 7, ..., bx, + 7T © 0 S0Po

(1) 50 + 7 . (2) Y2502 +7 (3) 5o (4) 50 + f7 &

The variance of the numbers 87, 88, 89, ..., 98 is
Dosw 87, 88, 89, ..., 98 © I \&

143 843 143 843
(1) 1o (2) To (3) 1o .. ()

If two unbiased six-faced dice are thrown simultangn_usly*then the probability that the
sum 1s 8 with at least one die showing a prime Aumber is

00C DK e3CHR0P TPDELRL S50 & 6 ) a‘d"a?.uoéo 8 €9:9)887° ©0¢0S” EDD0 a,§e3 ST Doy
@0'335 NN )

N o _ 4 . ) 1 y 1
OF @5 NV 4) 3
If A and B are events of a ra;ndom experiment with P (A) = Y P (B) = 3 and
-1 o )’
P(AnB)= ) then P(A r‘\“.'B) =
2.5 Q)OS EATROEMoeses A, B eo P (A) = 3 P (B) = 3 P(ANnB)-= 5 903050063
s P (ARE) 2
1 2% \ g 2 == 3 L 4 17

Agroup has 12 men and 4 women. If three were selected at random from the group then

the probability that they are all men is

12 5508 P00, 4 M e Ko 2.8 HZPTRH08. B2 HSUT0R0D AIPEYNEON™ SHED Jow

£063, TEoEET DO DogTI5S

] 11 5 |
(1) P (2) 8 (3) 54 (4) 28 PTO
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SECTION - C

Communication Ability

. Questions: 50 ~ Marks : 50
PART -1 |

Choose the Correct Answer: | |
151. Short term advance provided by a bank to a current account holder is called ¢

(1) Demand Draft (2) Hand loan (3) Over draft (4) Margindmeney
152. The organization which enables multilateral trade among countries 1s called”
(1) World Bank (2) World Trade Organization )

(3) United Nations Organization (4) International Court _

153. The advent of mass production is ascribed to the period of ™

(1) Second World War (2) Internet era_ €
(3) Copper age . (4) IndustrialRevolution
154. 10 year Redeemable Bonds means that at the end of the stipulated years the Bond
(1) is written off (2) ameuntds'paid and settled
(3) gets converted into shares (4) can‘be pledged in a bank
155. Market value of Mutual Fund is expre‘ss:iadl as
(1) Rupees per share .. % (2) Rupees per script
(3) Gross value in rupees , . (4) NAV in rupees
156. A coaxial cable to which a number of computers are connected is known as
(1) Multistrand wire <, (2) Jelly filled cable
(3) Ethernet Vo & (4) LAN

157. The system of transforming data into codes that are meaningless to anyone who does
not possess the systém for recovering initial data is

(1) Cryogenic. (2) Modulation (3) Quantization (4) Cryptography

158. An e__lec_'tl:dhic' device that allows a single communication channel to carry
simultaneous data from many terminals is called

(1).multiplexer (2) microprocessor (3) modulator (4) expert system

159%Compared with a manual system, in a computer system
(1) basic internal control objectives change.
(2) the methodologies for implementing control change.
(3) control objectives are more difficult to achieve.
(4) internal control principles change.

160. The logical organization of data in a database is called
(1) structure (2) schema (3) algorithm (4) legacy
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PART - II

Choose the Correct Answer:

161.

163.

164.

165.

166.

167.

A: “Why do you always behave like a dog in the manger?”
B: “I don’t know. It’s just my nature, I guess.”
‘A’ implies that ‘B’ is

(1) a spoilsport (2) rude (3) aggressive (4) uncouth
162.

A: “Would you like a cup of coffee?”
B: “If you say so.”

‘B’ is "o S
(1) indifferent  (2) eager (3) casual (4) pleaeed '
A: “I saw red when he put the blame on me.” 3N

B: “I understand you weren’t driving the car when the acmdent happened ”
‘A’ is . U

(1) angry (2) annoyed (3) funous | (4) resentful
“The man was a square peg in a round hele,. "

The speaker implies that the man was o |

(1) a loner (2) a recluse (3) a mlsﬁt (4) a bore

The passive form of the sentence "She saw you and him,”
(1) You and he were seen by her "(2) You and him were seen by her.

(3) You and him had been eeen by her (4) You and him were being seen by her.

Kamala: “Look,would" yeu mmd very much if I went out for a few minutes to make a

phone call? It is ra.ther important.”
Krishna: “No, yeu go. ahead §

Krishna's anmrlmplles that he is
(1) angry (2) understanding (3) frustrated (4) apologetic

ding o‘ver past failures, he decided to commit suicide.”
The Bentence implies that

(M8uicide was dear to him.

(2) his failures were broad.

(3) one should erase all memories, good or bad.

(4) the thought of his past failures led to his decision.

Fill in the blank with the appropriate phrase / verb / preposition :

168.

our advertised programme, we will be showing a film.
(1) In regard to (2) In spite of (3) On behalf of (4) In place of
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169.

170.

171.

172.
173.
174.

175.

He has five children on his meagre salary.

(1) to loak after (2) to look at (3) to look to

Live your means.

(1) without (2) within (3) from
_you change your mind, let us know.

(1) Could (2) Might (3) Would
I five languages. | | '
(1) know (2) am knowing (3) known
He was desperate a job.

(1) for (2) on (3) at
He me at chess yesterday. | |
(1) bet (2) beat (3) bait, *
Their house is hidden _ the trees. |

(1) among (2) by % 5.(3) with

Y PART-III

(4) to look for

(4) on

(4) Should ™"

h (éj'*kﬁbwing

(4) about

(4) beat-up

(4) between

Read the following passage and answer questibns' 176 - 180:

176.

177.

Philosophy in theast is an art of life and way of living.- The proper aim of philosophising,
according to the Indian mind, is not to obtain knowledge for its own sake but for the sake
of making life bétter. Philosophy in the soil of India is a personal attitude towards life
and the universes To philosophise is not merely to read and know philosophy; it is also to

‘think philosophically. Philosophy begins in wonder, doubt and curiosity. It grows out of
our developing awareness of the problems of human existence. Philosophy does not
shink from facing the difficult and unsolved problems of our life. There are certain
perennial problems which interest mankind and for which philosophers have sought
‘answers. Philosophy is primarily concerned with the soul, God, immortality, world,
» . knowledge and similar other problems, which again owe their solutions to the proper
" estimate of life. Many questions, however, have been answered only tentatively, and

many problems remain unsolved.

What is the aim of philosophy in the East?

(1) learning . | (2) self-realisation

(3) material gain (4) professional advancement

How does one become philosophical?

(1) through reading (2) through discussion

(3) through writing (4) through knowledge of the complexities of life




178. What is the meaning of ‘perennial’ ?

(1) momentary (2) everlasting (3) temporary (4) short-lived
179. How can problems be solved? |

(1) by proper evaluation ~ (2) by meditating

(3) by acknowledging them (4) by transcending them

180.

Why is the study of philosophy valuable?
(1) It adds wisdom to one’s life. (2) It deals with spirituality.
(3) It deals with the problems of life. (4) It provides answers to all preblems

Read the following passage and answer questions 181-185:

181.

182.

Although languages have come into existence and died away throughout,htiman history,
it was only in the 1990s, following the publication of a series of worldwide surveyvs, that
people began to notice that the rate of disappearance was significantly increasing. The
thrust of these facts is easy to summarise: of the 6,000 or&o Janguages in the world, it
seems probable that about half of these will dlsappear in the course of the present centur y.
It 1s a rate of loss unprecedented in recorded history.. '

The impact of dominant languages on minority langiages 1s a matter of universal concern,

and the role of English is specially implicated. The growth of English as a global language
1s not the sole factor in explaining language endangerment. Although it is English that
has been the critical factor in the disappearance of languages in such parts of the world
as Australia and North America, this language is of little relevance when we consider
the corresponding losses that have taken place in South America or in many parts of

Asia, where such languages as Spameh Portuguese, Russian, Arabic and Chinese have
replaced local languages. |

Languages die. A language lives on; aﬁer the last native speaker dies, only if it has been
written down or recorded.in .some way. At the turn of the m1llenn1um some 2000
languages had still notbeen documented. When one of these languages d1sappears the
consequences are truly.eatastrophic. When people die, they leave signs of their presence
in this world, in theform of their dwelling places, burial mounds and artifacts - in a
word, their archaeolegy But, spoken language leaves no archaeology. When a language
dies which has never been deeumented it is as if it has never been.

What is the author’s view about the languages of the world?
(1) Peopleiare unaware of the dying languages.
(2), People were unaware of the dying languages.

43) People have been aware of the dying languages.

(4) People thought that languages did not die.
What will happen by the end of the present century?

(1) The number of languages will be 3000.

(2) The number of languages will be less than 3000.
(3) The number of languages will be more than 3000.

(4) The number of languages may be about 3000. PTO
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183. Which of the following statements is true?

(1) A language is not documented by the native speakers.

(2) A language continues to live if it has been documented.

(3) Native speakers do not allow other languages to dominate their language
(4) English has dominated all languages in the world.

184. What is the disadvantage of spoken language?

185.

(1) It will certainly die.

(2) It cannot survive the onslaught of other languages.
(3) It leaves no trace when it dies.

(4) Native speakers find it difficult to remember it.

What does ‘catastrophic’ mean?

(1) Causing a lot of damage O (2) Cau.sing adotof anger
(3) Causing a lot of annoyance (4) Causing a lot.of disturbance

Read the following passage and answer questibns 186 - 190 :

186.

187.

So now let’s. talk about how discipline relates to self-esteem. In studies of children,
Coopersmith found that power and withelding affection were associated with children
who demonstrated low self-esteemjbut‘'management techniques were associated with
children who exhibited high self—esteem So it seems that parents should use physical
punishment and witholding of-affeetion with caution, right? Well, most psychologists
oppose physical punishment for children under the age of 2, and some psychologists
believe that discipline should.be achieved without any physical punishment for children
of all ages, referencing‘the fact that discipline means ‘to teach’ whereas punishment
means ‘to harm’. Anyway it’s generally agreed that reinforcement of good behaviour is
more effective than waiting for bad behaviour that requires punishment. But when
discipline is ne¢essary; setting limits with negative consequences that are consistently
enforced seems£o promote healthy development of self-esteem in children, especially
when thesé mandgement techniques are supplemented with approval, attentlon and
affection, 'L mean, when parents try to catch their children in the act of doing somethmg
nght and use that as a basis for positive reinforcement of their behaviour.”

The study of Coopersmith found that low self-esteem associated with children is due to
(1) enforcement of discipline (2) power and witholding of affection
(3) teaching process (4) management techniques

Physical punishment for children below the age of two is opposed by

(1) all psychologists (2) some psychologists
(3) most psychologists (4) all parents
188. To ‘discipline’ one, one has to
(1) punish (2) harm
(3) teach (4) catch the children domg wrong
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189. As against waiting for bad behaviour that requires punishment, one is advised to
(1) teach good behaviour (2) reinforce good behaviour
(3) set limits for negative consequences (4) shower affection

190. To help healthy development of self-esteem in children,
(1) discipline is not necessary.
(2) punishment is to be avoided totally.
(3) teaching is enough.
(4) use positive reinforcement when they do something right.

PART - IV

Choose the correct meaning for the word given :
'191. haggard

(1) exhausted  (2) worried (3) sad (4), glomiiy .
192. expedient | 4 o\

(1) appropriate (2) advisable (3) quicken £ W (4) dismiss
193. stalemate Y

(1) movement  (2) standstill (3) attitudes ™ (4) accustomed
194. gingerly N

(1) carefully (2) made of spice  «3)dightly (4) quickly
195. trill -\J) |

(1) fall 2 run G ) (3) cut (4) sing
196. pecuniary _ |

(1) relating to money @ © (2) relating to odd behaviour

(3) relating to diseagess W (4) relating to attitude
Fill in the blank choosmg the correct word :
197. During the-;-Emergéncy, the Prime Minister any opposition by implementing martial

law. QN | |

(1) pqstpfqned (2) pre-empted (3) defied (4) greeted
198. The . " marathon waik lasted for ten weary hours.

(@vgory (2) grand (3) gruesome (4) gruelling

199. The van and the car head-on in the dark.

(1) collided (2) colluded (3) collated (4) collocated
200. We face the prospect of still higher unemployment. |

(1) grimy (2) grim (3) grilling (4) garish

[P.T.O.

31



